
SINGLE LOCKERS

PROPERTY PROTECTION

88754761 ver. 007 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

1/4

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D



13mm

Single Lockers

www.troax.com2/11

5mm

35
70

09
01

26
51

05
19

35
70

02
39

M8x2589
05

02
19

35
70

02
19

89
05

64
80

89
30

00
45

89
05

01
72

20
50

03
20

A
rt

 n
o

: 8
87

54
76

1 
ve

r. 
00

7

35
70

02
59

x10x10
M6x20

Kit clamp ACL  35700299

x10

x10
M5x20

Kit clamp 30x20  36701240

36
70

09
0135

50
07

5X

21
60

12
5X

M8x55

89
05

00
44

M8

89
05

05
25

89
05

00
42

M8x35

36
70

00
52

89
05

02
54

M8

89
05

08
29



www.troax.com 3/11

1

or

2

50mm !

A
rt no

: 88754761 ver. 007 



www.troax.com4/11

5mm

3

4

M8x25

A
rt

 n
o

: 8
87

54
76

1 
ve

r. 
00

7 



www.troax.com 5/11

5mm

5

6

M8x25

5mm

M8x25

A
rt no

: 88754761 ver. 007 



www.troax.com6/11

5mm

7

8
10mm

M8x25

A
rt

 n
o

: 8
87

54
76

1 
ve

r. 
00

7 



www.troax.com 7/11

9

10

A
rt no

: 88754761 ver. 007



www.troax.com8/11

5mm

11

M8x25

12 A
rt

 n
o

: 8
87

54
76

1 
ve

r. 
00

7



www.troax.com 9/11

14

A
rt no

: 88754761 ver. 007 

13

A

B

M6x20



www.troax.com10/11

15

A
rt

 n
o

: 8
87

54
76

1 
ve

r. 
00

7 

15

M8x55

M8

M8x35

13mm



16 17

www.troax.com 11/11

A
rt no

: 88754761 ver. 007 


